HAOT EBERE Reviced History




B XX Index

&% Reference| | Description | Page
1001 BERT-N-TA3%Y BSP MALE TAPERED 60° CONE SEAT 11
b
1002 HERAETTARYOUYT K —M—FE30° ) BSP MALE O'RING BOSS TYPE 60° CONE SEAT 12
L

B
A
A%J:
T i
1004 ERFETIAFY30° ARV} BSP FEMALE60° CONE SEAT 13
T L
B
il & =S T ——
- 0 )
b T
FEL45 SEHFEITIARY30° AAY—P5° A’V 45° BSP FEMALE SWEPT ELBOW 60° CONE SEAT 14
L
A
FEL90 SHTETIARY30° AAY—F90° A'YN  90° BSP FEMALE SWEPT ELBOW 60° CONE SEAT 15
0490 ERFEITAREY30° F2Y—F90° 7°AYHI)LE 90° BSP FEMALE COMPACT ELBOW 60° CONE SEAT 16

L

=5

p_}_




B Reference| &R | Description | Page
1005 ERFETIARY30° FAY-} BSP FEMALE60° CONE 17
Py = -
= o 11 ¢
] .
bl y
ML45 EHEITIA%Y 30° 1AV—F45° AUN 45° BSP FEMALE SWEPT ELBOW 60° CONE 18
L
8
ML90 EHRETIAFY30° FAY—F90° AYRN 90° BSP FEMALE SWEPT ELBOW 60° CONE 19
0590 BRETIZLY30° £AY—-M0° 7°AYHINE" 90° BSP FEMALE SWEPT ELBOW 60° CONE 20
L
= ., %
FLAT EREITIARY 759M—} FEMALE FLAT SEAT 21
- L
T @ 1] >
X
NPT TARERT-N—TA%Y NPT MALE 60° CONE SEAT 22

ﬁj




B Reference| &R Description | Page
6008 127747 A% 0)YY K —F SAE MALE O'RING BOSS TYPE 23
L
s
B
T b
6010 1=774%2%Y°37° ¥RV} JIC MALE 37° CONE 24
n L
B
= -
;TI
T N
6013 1Z774FR%Y37° FAY-F JIC FEMALE37° CONE SEAT 25

—

_ <
D

S
)
E
b
G 1 1
' o
[ [ ]

6015 AZ774FA%Y°37° ARY—PAE° AUEN 45° JIC FEMALE SWEPT ELBOW 37° CONE SEAT 26
L

B

-
-

%

6016 AZJ74FR4Y 37° AAY—=FO0° AUM 90° JIC FEMALE SWEPT ELBOW 37° CONE SEAT 27

L

E

==

T

1390 AZ774AR%Y°37° AZY—FO0° 7'mYHI)LE 90° JIC FEMALE COMPACT ELBOW 37° GONE SEAT 28
L

p}j
i)




B Reference| &R Description | Page
M6028 ORS 12774%4%Y ORFS MALE 29
L
-
T
6028 ORS 1=774/% ORFS FEMALE 30
A 5
] [
— — <
. 0 p)
il il
6128 ORS 127744%Y°45° AU} 45° ORFS FEMALE 31
L
B
/\}\}(
6228 ORS 1Z774/%Y°90° AU} 90° ORFS FEMALE 32
= L
- A
| %
6007M F—MVEZRYT OYYT R —F METRIC MALE O'RING TYPE 33
T
6010M A—MVER%Y730° FAY—b METRIC MALE 30° CONE 34

}

L
A H
Y
L
B
A
e




B Reference| &R | Description | Page

METST  A—FVAR%¥30° ARY—} METRIC FEMALE 30° CONE SEAT 35
A o
S
i =5 11—
/| | |
X ¥
MET45 PMUVARZY30° AAY—PM5° A'YM 45° METRIC FEMALE SWEPT ELBOW 30° CONE SEAT 36
L
B
oA
MET90 A—MLAZR%ZY'30° FRAY—PI0° A'YN 90° METRIC FEMALE SWEPT ELBOW 30° CONE SEAT 37
L
E

ke

0490M A—MLAZRZY 30° ARY—p 90° 7 AYHIJLE 90° METRIC FEMALE COMPACT ELBOW 60° CONE SEAT 38

L

KAWAS  f=FLEARY FedmoYyy METRIC MALE O'RING SEAT 39

=5

CEL,CELJ IRIAFHI—MAZRRY 12° FRAY—} METRIC MALE 12° CONE SEAT L.T. 40

—F




B Reference| EE | Description | Page
DKOL.DKOLJ M&iAH#—FI A%V 12° #2Y—F OYU9Y—Ik O'RING METRIC FEMALE 12° CONEL.T. 41
L
A
T
ORING
P e
g i |
%
DKOLA45DKOLJ45 IRAFHA—FLARRY12° £RY—b OUYY"Y—N45° AU 45° O'RING METRIC FEMALE SWEPT ELBOW 12° CONE L.T. 42
L
=]
— T -
%/9/ i >
DKOL90,DKOL90 MR5AFAA—MLAR2Y12° FAY—F OYYH'Y—90° A'UE 80° O'RING METRIC FEMALE SWEPT ELBOW 12° CONE L.T. 43
L
=]
- M
- Tﬂﬁ :
s
CES MAHI—MARSEY 127 FAY—F METRIC MALE 12° CONE SEAT H.T. 44
L
DKOS BAFI-MLIRZY12° £RY—F OYYY"y—) O'RING METRIC FEMALE 12° CONE H.T. 45
L
A
T
ORING )
el
o FH
X
DKOS45  MA#A-MAR3Y'12° #RY—b OYUY'Y—45° A'VF 45° O'RING METRIC FEMALE SWEPT ELBOW 12° GONE H.T. 46

L

8

M %;//9/ ) ]

O
>




B Reference| &R | Description | Page
DKOS90  MA#A—MLAR$Y12° #RY—F OYU9'Y—190° A'VF 90° O'RING METRIC FEMALE SWEPT ELBOW 12° GONE H.T. 47
. L
- [
M T_y:;: h -
QRING P tz- |
SSFST  SAER4Y%—}(3000psi)AFL—} STRAIGHT SAE FLANGE 3000psi 48
L
%‘%%
4 %} B
SSF45 SAEA44 =} (3000psi)45° AU} 45° SAE FLANGE 3000psi 49
L
D
SSF90 90° SAE FLANGE 3000psi 50
o
(Hli
M2
HSFST SAEN7 LyY%—(6000psi)A L —F STRAIGHT SAE FLANGE 6000psi 51
L
%-Qie
4 %} _ [
HSF45 SAEN{7 LyY4—(6000psi)45° AU} 45° SAE FLANGE 6000psi 52

}3

oo




B Reference| &R | Description | Page
HSF90  SAENM7 Ly¥+—(6000psi)90° AUk 90° SAE FLANGE 6000psi 53
5 L
Juﬂii
M2
KSFST  KES%47°75Y AN~} STRAIGHT KOMATSU FLANGE 54
L
o
—:-—1&
i hj _ (
KSF45 KES%47770%'45° AUM 45° KOMATSU FLANGE 55
L
]
e
KSF90 KES%47770%°90° A'UN 90° KOMATSU FLANGE 56
= L
(Hfi
M2
CATST  CAT#47 75Y% AbL—b STRAIGHT CAT FLANGE 57
L
< J#] | e
CAT45  CAT#47770V45° A'UN 45° CAT FLANGE 58

—

g//y'

_3_




B Reference| &R Description | Page
CAT90  CAT#47770¥90° A'UN 90° CAT FLANGE 59
L

%; i
¥ pe
IF ZPELPD BANJO 60
TYPE 1 TYPE 2
L
0L
rr
T '#A T
= _ . {t _
v ) -~
WASH DAY —F—AR2Y WASH CLEANER FEMALE 61

JrnE )

:

3

10




1001

-N—FA2Y

BSP MALE TAPERED 60° CONE SEAT

ERT
L
B
A
L/ Y
- [mm]
FAR 2 5 T V1 AlB] L E
HOSE SIZE PART.REF. THREAD(T) (Cut Off) REMARKS
BN 1001-0204 R1/87-28 12 22 9 42
-04 |BN 1001-04 R1/47-19 17 26 13 47
BN 1001SUS-04 R1/47-19 17 26 13 47 AT L R /Stainless steel
BN 1001-0604 R3/8"-19 | 19 28 15 49
1/4”
BN 1001-0406 R1/4”"-19 19 26 13 50
—06 |BN 1001-06 R3/8"-19 19 28 15 52
BN 1001SUS-06 R3/8"-19 | 19 | 28 | 15 | 52 AT LA /Stainless steel
BN 1001-0806 R1/2"-14 | 22 33 18 57
3/8”
08 BN 1001-0608 R3/8"-19 | 22 31 15 59
BN 1001-08 R1/27-14 | 22 34 18 62
1/2” BN 1001SUS-08 R1/2"-14 | 22 | 34 | 18 | 62 AT LR /Stainless steel
~10 BN 1001-1210 R3/4"-14 | 30 39 20 75
5/8"
19 BN 1001-12 R3/4"-14 | 30 39 20 79
3/4”
~16 BN 1001-16 R17-11 36 44 22 87
1
~20 BN 1001-20 R1.1/4"-11| 46 53 25 | 109
1.1/4"
_94 B2 1001-24 R1/2"-11 55 46 25 92
1.1/2"
_39 B2 1001-32 R2"-11 70 57 30 | 106
%

11




1002(60073& )

ERAFETTARY OV K -M—ME30° 1) BSP MALE O'RNG BOSS TYPE 60° CONE SEAT

)

G == A I
)/

Y
g 2 = e

FAR = 3 B =

st size PART REF. THREAD(D)| ¥ | A lowom| b O-Ring
BN 1002-04 Gi/4°—19 | 19 | 24 | 11 | 45 P11

04 [BN1002A34-04 Gi/4—19 | 19 | 47 | 34 | 68

1/4”
BN 1002-06 G3/8°—19 | 22 | 26 | 13 | 50 P14

06 |BN 1002A34-06 G3/87—19 | 22 | 47 | 34 | 71

3/8”
BN 1002-08 Gi/2—14| 27 | 30 | 14 | 58 P18

08 |BN 1002A40-08 Gi/2°—14 | 27 | 56 | 40 | 84
BN 1002A53-08 Gi/27—14 | 27 | 69 | 53 | 97

1/2"

o BN 1002-0810 Gi/2—14 | 27 | 31 | 31 | 68 P18
RM 1002-10 G5/8"—14 | 30 | 33 | 16 | 63

5 /g |BN 10021210 G3/47—14 | 36 | 345 15 | 71 P24

., |BN1002-12 G3/4°—14 | 36 | 35 | 16 | 75 P22

3/4”

"o |BN1002-16 GI7—11 | 41 | 42 | 20 | 85 P29

”

o0 |BN 1002-20 Gi11/4—11] 50 | 48 | 20 | 104 P38

11/4”

94

11/2”

32

¥

12




BRI AARY 307 AAU—T BSP FEMALE60° CONE SEAT

30
1
5
]
|
|

|«
: | )

X Y
[mm]
TAA] X2 > Ty y]B] A i
HOSE SIZE PART.REF. TH READ(T) (Cut Off) REMARKS
BN 1004-0204 G1/87-28 | 14 | 14 | 26 7 47
-04 BN 1004-04 G1/4”-19 | 19 | 17 | 29 8 50
BN 1004SUS-04 G1/4”-19 | 19 | 17 | 29 8 50 AT L X/Stainless steel
BN 1004-0604 G3/8°-19 | 22 | 19 | 29 8 50
1/4”
BN 1004-0406 G1/4"-19 | 19 | 19 | 31 8 55
-06 BN 1004-06 G3/8"-19 | 22 | 19 | 31 8 55
BN 1004SUS-06 G3/8"°-19 | 22 | 19 | 31 8 55 AT L A/Stainless steel

BN 1004-0806 G1/2”-14 | 27 | 22 | 33 | 95 | 57

BN 1004-0608 G3/8"-19 | 22 | 22 | 34 | 95 | 62

-08 BN 1004-08 G1/2°-14 | 27 [ 22 | 36 | 95 | 64

BN 1004SUS-08 G1/2"-14 | 27 | 22 | 36 | 95 | 64 AT LR /Stainless steel

BN 1004R-08 G1/2°-14 | 27 | 27 | 36 | 95 | 64 @b E/FOR HEAVY DUTY

1/2” BN1004-1208 G3/4”-14 | 36 | 27 | 41 12 | 69

BN 1004-1210 G3/4"-14 ] 36 | 30 | 43 | 12 | 79

-10
5/8"
19 BN 1004-12 G3/4”-14 | 36 30 43 12 83
BN 1004SUS-12 G3/4"-14| 36 | 30 | 43 | 12 | 85 AT LA /Stainless steel
3/4" BN 1004R-12 G3/4"-14 | 36 36 45 12 85 t&1tEY/FOR HEAVY DUTY
16 BN 1004-16 G17-11 41 36 49 1135 92
BN 1004SUS-16 G17-11 41 | 36 | 49 [135] 92 AT L A/Stainless steel
1" BN 1004R-16 G17-11 41 | 41 | 51| 13 | 94 581t %! /FOR HEAVY DUTY
~20 BN 1004-20 G1.1/4”-11] 50 46 58 13 | 111
1.1/4"
_94 B2 1004-24 G1/27-11 55 55 53 | 185 99
1.1/2"
-32 B2 1004-32 G2"-11 70 70 64 21 113
0"

13



B FEL45

ERFEITIAZY30° ARY—} 45° AU} 45° BSP FEMALE SWEPT ELBOW 60° CONE SEAT

3

T
D,
- z [mm]

HAX i T B
st size PART REF. THREADMD|TYPE X fcwon| B | L
ot BN FEL45-04 G1/47—19 0 [ 47 | 15 | 71
1/4”

"o BN FEL45-06 G3/87-19 22 | 60 | 17 | o4
3/8”

"o BN FEL45-08 G1/2°—14 27 | 72 | 22 | 100
1/2

10

5/8"

T BN FEL45-12 G3/47—14 36 | 88 | 24 | 129
3/4”

e BN FEL45-16 G111 41 | 100 | 33 | 142

-

20
11/4”

24
11/2”

32

)

14



B FEL90

ERFEITIAZY30° ARY—F 90° AU} 90° BSP FEMALE SWEPT ELBOW 60° CONE SEAT

— =

LJ/E_::J

[mm]

HAR| A EX5)
st szt PART REF. THREADM|TYPE X |cwom

BN FEL90-04 G1/4"-19 19 | 31 | 28 [ 50

BN FEL90-06 G3/8"-19 22 | 39 | 34 | 63

BN FEL90-08 G1/2"-14 27 | 45 | 36 | 74

-10

5/8"

BN FEL90-12 G3/4"-14 36 | 58 | 44 [ 99

-12

3/4”

BN FEL90-16 G1”-11 41 | 71 | 54 [ 114

-16

-20

1.1/4”

—-24

1.1/2”

-32

15




0490

ERFEITIAY'30° ARV} 90° 7' AYIINF

90° BSP FEMALE COMPACT ELBOW 60° CONE SEAT

L

=

[mm]

HA4X

HOSE SIZE

o7

PART.REF.

R
THREAD(T)

B

(Cut Off)

BN 0490-04

G1/4"-19

16 ]19.5

37

BN 0490-06

G3/8"-19

22

21 | 20.5

45

BN 0490-08

G1/2"-14

27

23 | 225

92

-10

5/8"

-12

3/4”

-16

-20

1.1/4”

—-24

1.1/2”

-32

16




ERFTIAFY30° 2V}

BSP FEMALE60° CONE

L
T A
N
o ﬂ (
J\’) e —_— —_— —_— p—
X b
; [mm]
FAX % x> Ty v 18] Al L i
HOSE SIZE PART.REF. THREAD(T) (Cut Off) REMARKS
BN 1005-0204 G1/87-28 | 14 14 26 | 4.5 47
-04 BN 1005-04 G1/4"-19 | 19 17 29 55 50
BN 1005SUS-04 G1/4”"-19 | 19 [ 17 | 29 | 55 | 50 AT LR /Stainless steel
BN 1005-0604 G3/8"-19 | 22 19 29 55 50
1/4”
BN 1005-0406 G1/4"-19 | 19 19 31 55| 55
-06 BN 1005-06 G3/8"-19 | 22 19 31 55| 55
BN 1005SUS-06 G3/8"-19 | 22 19 31 55| 55 AT LR /Stainless steel
BN 1005-0806 G1/2"-14 | 27 22 33 6.5 57
3/8”
BN 1005-0608 G3/8"-19 | 22 22 34 | 55| 62
-08 BN 1005-08 G1/2"-14 | 27 22 36 6.5 64
BN 1005SUS-08 G1/2"-14 | 27 | 22 | 36 | 65 | 64 AT LR /Stainless steel
BN 1005R—-08 G1/2"-14 | 27 27 36 6.5 64 1&1tEY/FOR HEAVY DUTY
1/2”7 BN1005-1208 G3/4"-14 | 36 27 41 8 69
~10 RM 1005-10 G5/8"-14 | 28 34 10 60
BN 1005-1210 G3/4"-14 | 36 30 43 8 79
5/8" BN 1005X32-1210 G3/4"-14 | 32 30 43 8 79 X=32
19 BN 1005-12 G3/4"-14 | 36 30 43 8 83
BN 1005SUS-12 G3/4"-14 | 36 | 30 | 43 8 83 AT LR /Stainless steel
3/4" BN 1005R-12 G3/4"-14 | 36 36 26 8 85 1&1tEY/FOR HEAVY DUTY
BN 1005X32-12 G3/4"-14 | 32 30 43 8 83 X=32
16 BN 1005-16 G17-11 41 36 49 9 92
BN 1005SUS-16 G17-11 41 36 49 9 92 AT L R /Stainless steel
1" BN 1005R-16 G17-11 41 | 41 | 51 9 | 94 581E & /FOR HEAVY DUTY
RM 1005X38-16 G17-11 38 38 10 80 X=38
~20 BN 1005-20 G1.1/4”-11] 50 46 58 11 111
1.1/4"
_94 B2 1005-24 G1/2"-11 55 55 53 | 155 99
1.1/2"
-32 B2 1005-32 G2"-11 70 70 64 18 | 113
0"

17




B ML45

ERTEITIAFY30° FRY-} 45° ATVF 45° BSP FEMALE SWEPT ELBOW 60° CONE

I(/%/ | 31/%/ | 3

e TYFE 1 TYFE 2
T (CRIMPED- BACK NUT} (SUP—0ON NUT)
3| Z EES —
HA4X " o B &
st size PART.REF. THREADM|TYPE X |owom| H | L REMARKS
ot BN ML45-04 G1/47—19] 2 | 19| 37 | 13 | 59
RM ML45-0604 | G3/8"—19 | 2 | 22 | 37 | 13 | 59
1/4”
"o BN ML45-06 G3/8° 19| 2 | 22 | 50 | 18 | 73
BN ML45-0806 | Gi/2°—14 | 2 | 27 | 43 | 15 | 67
3/8”
"o BN ML45-08 Gi/2 4| 2 | 27 | 57 | 19 | a4
1/2”
o RM ML45-10 G5/8°—14| 1 | 28 | 63 ] 25 | o1
RM ML45-1210 | G3/4—14 | 1 | 32 | 62 | 26 | 89
5/8"
T BN ML45-12 G3/4 14| 1 | 36| 90 | 22 | 130
RM ML45-12 G3/4—14| 1 | 32 | 70 | 33 [ 107 X=32
3/4”
e BN ML45-16 Gi =11 | 1 | 41 [107] 30 | 150
”
20
11/4”
94
11/2”
32
)

18



ML90

EREITIARY30° FAY—F 90° AUV 90° BSP FEMALE SWEPT ELBOW 60° CONE
L L
B B
I A T
1 TYPE 1 TvFE 2
jﬁ\ ] {CRIMPED—BACK NUT} {ET' {SLIFP—ON NUT}
L | R b | b
\_T B;"? 1| N\
3| Z eSS Lzl
HAX Hh E B &
st szt PART.REF. THREADM|TYPE X fowom| H | L REMARKS
_04 BN ML90-04 Gi/47-19] 2 [ 19 25 | 28 | 53
RM ML90-0604 G3/8-19| 2 [ 22 30| 27 | 50
1/4”
06 BN ML90-06 G3/8”7-19 2 [ 22 ] 42| 36 | 66
RM ML90-0806 G1/2"-14| 2 | 27 ] 35 | 33 | 59
3/8”
08 BN ML90-08 G1/2”7-14] 2 [ 27 [ 48] 43 | 76
RM ML90-1208 G3/4”-14| 2 [ 32 43| 47| 70
1/2”
_10 RM ML90-10 G5/8"-14| 2 [ 28 [ 60| 64 | 85
RM ML90-1210 G3/4"-14 | 1 32 | 54 | 55 | 82
5/8”
12 BN ML90-12 G3/47-14 | 1 36 | 57 [ 50 | 98
RM ML90-12 G3/4"-14 | 1 32 | 57| 58 | 88 X=32
3/4”
16 BN ML90-16 G17-11 1 [ 41 73] 67106
i
-20
1.1/4”
-24
1.1/27
-32
5"

19



0290

ERETIARY30° £AY—b 90° 7'AYHINE”

90° BSP FEMALE COMPACT ELBOW 30° CONE

=

J!E\CI
i

[mm]

HYA4X

HOSE SIZE

o7

PART.REF.

R
THREAD(T)

B

(Cut Off)

BN 0590-04

G1/4"-19

16 | 22

37

BN 0590-06

G3/8"-19

22

21 | 23

45

BN 0590-08

G1/2"-14

27

23 [ 255

92

-10

5/8"

-12

RM 0590-12

G3/4"-14

32

37 [ 445

68

3/4”

-16

RM0590-16

G1”-11

38

51 | 54.5

93

-20

1.1/4”

—-24

1.1/2”

-32

20




EATIAEYT79M -}

FEMALE FLAT SEAT

L
B A
J
- [mm]

FAX 2 X Ty Al gL
HOSE SIZE PART.REF. TH READ(T) (Cut Off)

RM FLAT G1/4-04 | G1/4"-19 | 19 | 145 35
-04
1/4”

RM FLAT G3/8-06 | G3/8"-19 | 22 |[165] 9 41
-06 BN FLAT G1/2-06 | G1/2"-14 | 27 19 11 42

BN FLAT/M20-06 M20Xx15 | 27 19 | 85 | 42
3/8”

BN FLAT G1/2-08 | G1/2"-14 | 27 18 | 95 | 45
-08 BN FLAT/M20-08 M20x15 | 27 20 | 85| 45

BN FLAT/M22-08 M22x15 | 27 20 | 85 | 47

BN FLAT/M24-08 M24x15 | 30 | 23 |125] 51
1/2”
~10 RM FLAT G3/4-10 | G3/4"-14 | 32 | 205]| 11.5| 50
5/8”
19 RM FLAT G3/4-12 | G3/4"-14 | 32 22 | 11.5] 52
3/4”
-16
1”
-20
1.1/4”

21




NPT

TANERT—N AR

-

v/

NPT MALE 60° CONE SEAT

N
- [mm]

FAX 2 > T .1 Al8B] L
HOSE SIZE PART.REF. TH READ(T) (Cut Off)

RM NPT-04 NPT1/4"-18| 14 13 27 48
-04 RM NPT-0604 NPT3/8"-18| 19 19 28 | 48
1/4”

RM NPT-06 NPT3/8"-18| 19 19 29 52
-06 RM NPT-0806 NPT1/2"-14| 22 19 33 57
3/8”

RM NPT-08 NPT1/2"-14| 22 19 33 57
-08
1/2”
-10
5/8”
-12
3/4”
-16
1”
-20
1.1/4”

22




6008

AZ77AFARY OYYY & —b

[
:/

=5

SAE MALE O’RING BOSS TYPE

[mm]

HA4X

HOSE SIZE

o7

PART.REF.

R
THREAD(T)

B

(Cut Off)

-04

BN 6008-06

UNF9/16”-18

17

10

25

49

BN 6008-0806

UNF3/4"-16

22

11

26

90

BN 6008-08

UNF3/4"-16

22

11

27

95

BN 6008-1008

UNF7/8"-14

24

12.5

28.5

56.5

172"

-10

5/8"

-12

3/4”

-16

-20

1.1/4”

—-24

1.1/2”

-32

23



1277442%Y°37° *2Y-+

JIC MALE 37° CONE

L
A
37 7
/ l B ) B B )
J Y
- [mm]
FAR 2 > T V1 AlB] L
HOSE SIZE PART.REF. TH READ(T) (Cut Off)
BN 6010-04 UNF7/16"-20| 14 14 28 49
-04 BN 6010A28-04 UNF7/16"-20| 17 28 41 62
BN 6010-0504 UNF1/2”-20( 17 14 27 47
BN 6010-0604 UNF9/16"-18] 17 | 1451 29.5] 50.5
1/4”
BN 6010-06 UNF9/16"-18] 17 | 145 29.5] 53.5
-06 BN 6010A40—-06 UNF9/16"-18| 22 40 55 79
BN 6010-0806 UNF3/4"-16| 22 16 31 55
BN 6010-1006 UNF7/8"-14| 24 19 36 60
3/8”
BN 6010-08 UNF3/4"-16| 22 16 32 60
-08 BN 6010A45-08 UNF3/4"-16| 24 | 45 61 89
BN 6010-1008 UNF7/8"-14| 24 19 37 65
1/2”
~10 BN 6010-10 UNF7/8"-14| 27 19 38 74
BN 6010-1210 UNF1.1/16"-12| 30 22 41 77
5/8"
12 BN 6010-12 UNF1.1/16"-12| 30 [ 22 | 41 | 81
BN 6010-1612 UNF15/16"-12| 36 23 44 84
3/4”
16 BN 6010-16 UNF1.5/16"-12| 36 | 23 | 45 | 88
17
-20
1.1/4”
=24
1.1/2”
-32
9"

24




1=7742R%Y°37° FAY—}

JIC FEMALE 37° CONE SEAT

A
5 =
() e 1 N E
r )
X Y
- [mm]
FAR 2 x> Ty vl alB]L E
HOSE SIZE PART.REF. TH READ(T) (Cut Off) REMARKS
BN 6013-04 UNF7/16"-20] 17 17 8 28 | 49
-04 BN 6013X14-04 UNF7/16"-20| 14 9 25 | 45 X=14
BN 6013-0504 UNF1/2”-20( 17 9 26 | 47
BN 6013-0604 UNF9/16"-18] 19 19 8 31 52
1/4”
BN 6013-06 UNF9/16"-18] 19 19 8 31 57
-06 BN 6013-0806 UNF3/4"-16| 22 22 | 95| 35 59
RM 6013-1006 UNF7/8"-14| 27 12 36 | 47
3/8”
BN 6013-08 UNF3/4"-16] 24 | 22 | 95| 35 64
-08 BN 6013X22-08 UNF3/4"-16| 22 22 | 95| 35 64
BN 6013-1008 UNF7/8"-14| 27 22 | 11.5] 38.5] 66.5
BN 6013-1208 UNF1.1/16"-12| 36 27 13 42 70
1/211
~10 BN 6013-10 UNF7/8"-14| 27 27 | 11.5]1405] 76.5
BN 6013-1210 UNF1.1/16"-12| 36 30 13 44 80
5/8” BN 6013X32-1210 |uNF1.1/16"-12| 32 30 13 44 | 80
19 BN 6013-12 UNF1.1/16"-12| 36 [ 30 | 13 | 44 | 84
BN 6013X32-12 UNF1.1/16"-12 32 30 13 44 | 84
3/4”
16 BN 6013-16 UNF1.5/16"-12| 41 | 36 | 14 | 49 [ 92
BN 6013R-16 UNF15/16"-12] 41 | 41 | 13 | 51 | 94 581t %! /FOR HEAVY DUTY
17
~20 BN 6013-20 UNF15/8”-12| 50 | 46 | 145| 56 | 108
1.1/4”
=24
1.1/2”
-32
9"

25




6015

AZ7742R%2Y37° ARY—F45° AUN

45° JIC FEMALE SWEPT ELBOW 37° CONE SEAT

L

s
At
' -

v

[T 1

3_

- [mm]
FAR 2 x> T v 1B lnlL
HOSE SIZE PART.REF. TH READ(T) (Cut Off)

BN 6015-04 UNF7/16"-20] 17 57 18 77
-04 BN 6015X14-04 UNF7/16"-20| 14 36 14 61
RM 6015-0504 UNF1/2”-20f 17 | 355 145| 64
RM 6015-0604 UNF9/16"-18] 19 38 15 59
1/4”
BN 6015-06 UNF9/16"-18] 19 67 23 90
-06 BN 6015-0806 UNF3/4"-16| 22 49 18 73
3/8”
BN 6015-08 UNF3/4"-16| 24 73 29 | 105
-08 BN 6015X22-08 UNF3/4"-16| 22 73 29 | 105
RM 6015-1008 UNF7/8"-14| 27 51 20 77
1/2”7
~10 RM 6015-10 UNF7/87-14| 27 65 23 94
RM 6015-1210 UNF1.1/16"-12| 32 63 23 90
5/8"
19 BN 6015-12 UNF1.1/16"-12| 36 85 25 | 125
RM6015X32-12 UNF1.1/16"-12| 32 72 24 | 104
3/4”
16 BN 6015-16 UNF15/16"-12] 41 | 102 | 31 | 146
17
-20
1.1/4”
=24
1.1/2”
-32
9"

26




6016

AZ774FR%2Y37° ARAY—F90° AUN

90° JIC FEMALE SWEPT ELBOW 37° CONE SEAT

il

e

=

[mm]
PR 2 > T .18 ]n] L E
HOSE SIZE PART.REF. THREAD(T) (Cut Off) REMARKS
BN 6016-04 UNF7/16”-20] 17 | 27 | 24 | 55 ¥ BN6016-04/New
-04 BN 6016H32-04 |UNF7/16”-20] 17 | 32 | 26 | 53 IH BN6016-04/0Id
RM 6016H45-04 |UNF7/16”-20] 17 | 285| 45 | 53
RM 6016X14-04 |uUNF7/16”"-20[ 14 | 30 | 26 | 50
1/4” RM 6016-0504 UNF1/2”-20| 17 | 28.5]275]| 50
RM 6016-0604 UNF9/16”-18] 19 [ 33 | 29 [ 55
06 BN 6016-06 UNF9/16"-18] 19 | 34 | 30 | 62 ¥ BN6016-06/New
BN 6016H45-06 UNF9/16"-18] 19 | 33 | 45 | 63 IH BN6016-06/0Id
3/8” RM 6016H55-06 UNF9/16,:’—18 19 | 355 55 | 64
RM 6016-0806 UNF3/4"-16/ 22 | 39 [ 36 | 63
BN 6016-08 UNF3/4"-16] 24 | 42 | 39 | 74 ¥ BN6016-08/New
-08 BN 6016X22-08 UNF3/4"-16] 22 | 42 | 39 | 74
BN 6016H50-08 UNF3/4”-16] 24 | 40 | 50 | 74 IH BN6016-08/0Id
1/2" RM 6016H62-08 UNF3/4:—16 22 |1405] 62 | 74
RM 6016-1008 UNF7/8"-14 27 | 46 | 40 | 74
~10 RM 6016-10 UNF7/8"-14] 27 | 53.5| 52.5| 84
RM 6016H65-10 UNF7/8"-14| 27 | 535]| 65 | 84
” RM 6016-1210 UNF1.1/16"-12| 32 54 | 50 | 83
5/8
19 BN 6016-12 UNF1.1/16"-12| 36 57 52 | 100
RM6016X32-12 UNF1.1/16"-12| 32 56 53 | 86
3/4” RM6016H94-12 UNF1.1/16"-12| 32 62 95 94
16 BN 6016-16 UNF1.5/16"-12| 41 [ 71 | 58 | 113
RM6016H110-16 |uNF15/16"-12] 38 | 82 | 110 | 122
v
-20
1.1/4"
-24
1.1/2"
-32
9"

27




1390

AZ774FR%Y37° AAY—FO0° 7' AYHINE 90° JIC FEMALE COMPACT ELBOW 37° CONE SEAT

L

__}____5_

[mm]

PR 2 x> T v 1B lnlL
HOSE SIZE PART.REF. TH READ(T) (Cut Off)

RM 1390-04 UNF7/16”-20| 17 | 20 [ 20.5] 43

-04 RM 1390-0604 UNF9/16”-18] 19 | 20 [21.5] 43

RM 1390-06 UNF9/16"-18] 19 | 23 | 24 | 46

-06 RM 1390-0806 UNF3/4"-16] 22 [26.5]| 28 | 52

RM 1390-08 UNF3/4"-16] 22 | 25 | 28 | 52

-08 RM 1390-1008 UNF7/8"-14| 27 [ 25 | 29 | 53

172"

-10

5/8"

-12

3/4”

-16

-20

1.1/4”

28



ORS 1=774%%Y ORFS MALE
L
B
A
u] i
Sy
- [mm]

FAR 2 > T V1 AlB] L
HOSE SIZE PART.REF. TH READ(T) (Cut Off)

RM M6028-04 UNF9/16"-18| 16 10 | 24 | 47
-04 BN M6028-0604 |unF11/16”-16] 19 11 24 | 48
1/4”

BN M6028-06 UNF11/16”-16] 19 11 24 | 48
-06
3/8”

BN M6028-08 UNF13/16"-16| 22 13 29 57
-08
1/2”7
10 BN M6028-10 UNF1”"-14 | 27 | 155|335 69.5
5/8"
19 BN M6028-12 UNF1.3/16"-12| 32 16 | 35.5| 75.5
3/4”
16 RM M6028-16 UNF1.7/16"-12| 41 12 | 45 [ 85
17
-20
1.1/4”
=24
1.1/2”
-32
9"

29




6028-6028S(short)

ORS 1=774/2¥

|«

ORFS FEMALE

Yy )
_ ks ¥ [mm]
FAR 2 = Ty vl aAlBlcolL E
HOSE SIZE PART.REF. TH READ(T) (Cut Off) REMARKS
BN 6028-04 UNF9/16”-18| 19 17 30 7 51
-04 BN 60285-04 UNF9/16"-18| 19 17 22 7 43 3—ME /Non slide nut
BN 6028-0604 UNF11/16"-16| 22 17 31 | 85| 52
1/4”
BN 6028-06 UNF11/167-16| 22 19 33 | 85| 57
-06 BN 6028S-06 UNF11/16”-16] 22 | 19 235| 85 | 56 ¥3—bE /Non slide nut
BN 6028A97-06 UNF11/16”-16| 22 19 | 97 [925] 85 | 117 | 3¥¥/For KOMATSU Long
BN 6028-0806 UNF13/16"-16| 24 22 34 | 95| 58
3/8”
BN 6028-08 UNF13/16"-16| 27 22 37 | 95| 65
08 BN 6028X24-08 |UNF13/16”-16] 24 | 22 37 | 95 | 65
BN 6028S-08 UNF13/16”-16] 24 | 22 275] 95 |555| ¥Y3a—FE!/Non slide nut
BN 6028A97-08 UNF13/16”°-16] 27 | 22 | 97 [93.5] 9.5 | 122 | 3¥¥Y/For KOMATSU Long
BN 6028-1008 UNF1”-14 | 30 | 27 405| 11 | 685
1/9” BN 6028A106-1008 | UNF1“-14 | 30 | 27 [ 106 | 113 | 11 | 140 | 3¥¥Y/For KOMATSU Long
BN 6028-1208 UNF1.3/16"-12| 36 30 45 1135 58.5
10 BN 6028-0810 UNF13/16”-16] 24 | 27 381 95| 74
BN 6028-10 UNF1”-14 | 30 | 27 425 11 | 78.5
BN 6028S-10 UNF1"-14 | 30 | 27 305 11 | 66.5 ¥3—bE /Non slide nut
BN 6028A106-10 UNF1”"-14 | 30 | 27 | 106 | 103 | 11 | 139 | 2¥Y/For KOMATSU Long
5/8” BN 6028-1210 UNF1.3/16"-12| 36 30 46 | 135 89
19 BN 6028-12 UNF1.3/16"-12] 36 | 30 46 | 13.5| 86
BN 6028S-12 UNF1.3/16"-12| 36 | 30 3151135 71.5| ¥3—F&/Non slide nut
3/4” BN 6028-1612 UNF1.7/16"-12| 41 36 475| 1451875
16 BN 6028-1216 UNF1.3/16"-12 36 | 36 47 113.5] 90
BN 6028-16 UNF1.7/16"-12| 41 36 50 [ 14.5] 93
17 BN 6028-2016 UNF1.11/16"-12| 50 41 505 15 | 110
~20 BN 6028-20 UNF1.11/16"-12] 50 | 41 54 [ 15 ] 110
1.1/4”

30




6128

ORS 1=774/%¥°45° AU}

45° ORFS FEMALE

TYFE 1
(CRIMPED-BACK NUT)

|

I
)

TYFE 2
{SLIP—DN WUT)

pd e
- z [mm]

HA4X AR E B

st s PART.REF. THREAD(T)|TYPE X Jowon| | L

04 BN 6128-04 UNF9/16"-18| 1 19 | 46 | 13 | 70
RM 6128-0604 UNF11/16"-16] 2 22 1| 30 | 10 | 55

1/4”

06 BN 6128-06 UNF11/16"-16] 1 22 | 61 17 | 84
RM 6128-0806 UNF13/16"-16] 2 24 | 37 14 | 60

3/8”

08 BN 6128-08 UNF13/16"-16] 2 27 | 53 | 16 | 81
RM 6128-1008 UNF1°-14| 2 301 49 ] 19 | 80

1/2”7

10 BN 6128-10 UNF17-14| 2 30 | 56.5]| 21 | 925
RM 6128-1210 UNF1.3/16"-12| 2 36 63 30 | 90

5/8”

~19 BN 6128-12 UNF1.3/16"-12 2 36 | 62 | 23 | 102

3/4"

16 BN 6128-16 UNF1.7/16"-12 2 41 77 | 27 | 121

z

-20

1.1/4"

-24

1.1/2"

-32

9"

31




ORS 1=774/%Y790° A"V} 90° ORFS FEMALE

=

TYPE 1 TYFE 2
(CRIMPEC—BACK NUT} ull {SLP—DN NUT}

; > [mm]
HA4X oh ) B
st st PART.REF. THREADM|TYPE X fowom| H | L
04 BN 6228-04 UNF9/16"-18| 1 19 | 31 29 | 49
RM 6228-0604 UNF11/16"-16| 2 22 | 28 | 27 | 49
1/4”
06 BN 6228-06 UNF11/16"-16] 1 22 | 38 | 34 | 62
RM 6228-0806 UNF13/16"-16] 2 24 38 34 60
3/8”
BN 6228-08 UNF13/16"-16] 2 27 46 37 74
BN 6228X24-08 UNF13/16"-16] 2 24 46 37 74
-08 RM 6228H30—08 UNF13/16"-16] 2 24 1405| 30 68
BN 6228H53—-08 UNF13/16"-16] 2 24 46 53 74
BN 6228H58—-08 UNF13/16"-16] 2 24 46 58 74
BN 6228H70—-08 UNF13/16"-16] 2 24 46 70 74
BN 6228H77-08 UNF13/16"-16] 2 24 46 77 74
1/2” BN 6228H83-08  |uNF13/16"-16] 2 24 | 46 | 83 | 74
RM 6228-1008 UNF17-14 | 2 30| 46 | 40 | 70
10 BN 6228-10 UNF17-14 | 2 30 | 50 | 45 | 86
RM 6228-1210 UNF1.3/16"-12| 2 36 49 48 87
5/8"
BN 6228-12 UNF1.3/16"-12| 2 36 53 50 93
-12 BN 6228H100-12 |uNF1.3/16"-12| 2 36 53 | 100 | 93
BN 6228H110-12 |uNF1.3/16"-12| 2 36 53 | 110 | 93
BN 6228H130-12 |uNF1.3/16"-12| 2 36 53 | 130 | 93
3/4” BN 6228H170-12 |uNFi1.3/16"-12| 2 36 | 53 | 170 | 93
16 BN 6228-16 UNF1.7/16"-12| 2 41 71 59 | 114
BN 6228H110-16 |uNFi1.7/16"-12| 2 41 71 | 110 | 114
z BN 6228H130-16 |uNFi1.7/16"-12| 2 41 71 | 130 | 114
-20
1.1/4”
-24
1.1/2”

32



A—bERRYT oYYy iR —F

METRIC MALE O'RING TYPE

—

- [mm]
FAR 2 > T V1 AlB] L E
HOSE SIZE PART.REF. THREAD(T) (Cut Off) REMARKS
-04
1/4”
-06
3/8”
BN 6007M20-08 M20x1.5 | 27 15 | 33 | 61
-08 BN 6007M22-08 M22Xx1.5 | 27 15 | 33 | 61
BN 6007M24-08 M24x15 | 36 19 | 35 [ 63
1/2”
~10 BN 6007M24-10 M24x15 | 36 19 | 36 [ 72
5/8"
~12 BN 6007M24-12 M24xX15 | 36 18 | 375|775
BN 6007M33-12 M33 X 2 46 | 20 | 47 | 87 7'L—h—F/For Breaker Attachment
3/4”
16 BN 6007M42-16 M42x15 | 50 | 20 | 48 | 91 7'L—h—F/For Breaker Attachment
17
-20
1.1/47
-24
1.1/2”
-32
9"

33




A~FVER2Y730° FRY—}

METRIC MALE 30° CONE

B
&
Q\'@( 7
Al )
i
- [mm]
FAR % E3S) Y1 AlB] Lo
HOSE SIZE PART.REF. TH READ(T) (Cut Off)
BN 6010M-04 M14 X 15 17 16 29 50 30
-04 BN 6010M-A40-04 M14x 15 17 40 53 74 | 45
1/4”
BN 6010M16A35-06 | M16X1.5 | 22 35 48 72 45
-06 BN 6010M-06 M18x 1.5 19 18 31 55 30
BN 6010M20A40-06 | M20x 1.5 | 27 40 55 79 45
3/8”
BN 6010M20A40-08 | M20x 1.5 | 27 40 56 84 | 45
-08 BN 6010M-08 M22x15 | 24 20 36 64 30
BN 6010M22A40-08 | M22x1.5 | 27 40 56 84 | 45
1/2”
~10 BN 6010M-10 M24x15 | 27 22 46 77 30
5/8”
~19 BN 6010M-12 M30Xx15 | 36 26 | 455]1855] 30
3/4”
-16
1”
-20
1.1/4"
-24
1.1/2"
-32
2"

34




METST

A—MVAZ2Y30° FRY—}

METRIC FEMALE 30° CONE SEAT

A
C
: |
L T ———

- [mm]
FAX % Ty vl alBlclL i
HOSE SIZE PART.REF. TH READ(T) (Cut Off) REMARKS

BN METST-04 M14Xx15 | 19 17 30 9 51
-04
1/4”
BN METST-06M16 M16X15 | 22 19 32 9 56
-06 BN METST-06 M18Xx15 | 22 19 33 10 | 57
BN METST-06A97 M18X15 | 22 19 | 97 [ 102 | 10 | 126 | I¥Y/For KOMATSU Long
BN METST-06M20 M20Xx15 | 27 19 35.5| 12 | 645
3/8”
BN METST-08M20 M20Xx15 | 27 22 385| 12 | 66.5
-08 BN METST-08 M22Xx15 | 27 22 385| 12 | 66.5
BN METST-08A97 M22x15 | 27 22 | 97 | 105| 12 [ 133 | a¥¥/For KOMATSU Long
1/2”
~10 BN METST-10 M24x15 | 32 | 27 4251 13.5] 785
BN METST-10A106 | M24x15 | 32 | 27 | 106 | 113 | 13.5| 149 | a¥¥/For KOMATSU Long
5/8"
19 BN METST-12 M30x1.5 [ 36 | 30 47 16 | 87
3/4”
~16 BN METST-16 M33Xx15 | 41 36 54 | 18.5] 97
1”
-20
1.1/4”
-24
1.1/2”
-32
2”

35




MET45

A—MLARZY 30° AAY—PAE° ATUF 45° METRIC FEMALE SWEPT ELBOW 30° CONE SEAT

| (
.

[mm]

PR 2 x> [ v B lnglL
HOSE SIZE PART.REF. THREAD(T) (Cut OFf)

BN MET45-04 M14x15 | 19 | 47 | 16 | T

BN MET45-06 M18x15 | 22 | 60 | 17 | 84

BN MET45-08 M22x15 | 27 | 72 | 22 | 100

BN MET45-10 M24x15 | 32 | 60 | 20 [ 97

-10

5/8"

-12

3/4”

~16 BN MET45-16 M33x15 | 41 [ 100 ]| 33 | 142

-20

1.1/4”

—-24

1.1/2”

-32

36



MET90

A—MVARZY 30° AAY—PO0° ATUF 90° METRIC FEMALE SWEPT ELBOW 30° CONE SEAT
L

—{

L{J::
[

[mm]

T4 2 x> [ v B lnlL
HOSE SIZE PART.REF. THREAD(T) (Cut Off)

BN MET90-04 M14x15 ] 19 | 31 | 28 | 50

BN MET90-06 M18x15 | 22 | 39 | 34 | 63

BN MET90-08 M22x15 | 27 | 45 | 36 | 74

~10 BN MET90-10 M24x15 | 32 | 50 | 40 | 88

5/8"

-12

3/4”

BN MET90-16 M33X15 | 41 [ 71 | 54 | 114

-16

-20

1.1/4”

—-24

1.1/2”

-32

37



0490M

A—MVAREY30° FRY—F 90° 7' AYHINE 90° METRIC FEMALE COMPACT ELBOW 60° CONE SEAT

=

[mm]

PR 2 x> 1 v B lqglL
HOSE SIZE PART.REF. THREAD(T) (Cut OFf)

BN 0490M-04 M14x15 | 19 | 25 8 31

BN 0490M16—06 M16x15 | 22 | 60 41

oo (0o

BN 0490M-06 M18x15 | 22 | 60 41

BN 0490M20—-08 M20x15 | 27 | 40 | 95 | 51

BN 0490-08 M22x15 | 27 | 40 | 95| 51

-10

5/8"

-12

3/4”

-16

-20

1.1/4”

—-24

1.1/2”

-32

38



I—IVERRY HImOUvy METRIC MALE O'RING SEAT

o=

FAX] %3 EXY —
wewe  PARTREF.  |tHREADM| Y | A [ B | C [ L O-Ring

[mm]

-04

172"

-10

5/8"

BN KAWAS-12 M32x 1.5 P22

-12

3/4”

BN KAWAS-16 M40 X 1.5 P29

-16

-20

1.1/4”

—-24

1.1/2”

-32

39



CEL(DIN) - CELJ(JIS)

BAHA—MARRY12° FRY—} METRIC MALE 12° CONE SEAT L.T.

f‘ff\| _

t g
S

; [rmm]
FAR 2 = T V1 AlB]p]L
HOSE SIZE PART.REF. TH READ(T) (Cut Off)

RM 6CEL-04 M12x15 | 14 10 12 6 42
-04 |BN 8CEL-04 M14x15 | 17 10 14 8 44
BN 10CEL-04 M16X15 | 17 11 15 10 | 45
BN 12CEL-04 M18Xx15 | 19 11 15 12 | 45
1/4”
BN 10CEL-06 M16X15 | 17 11 24 10 | 49
-06 |BN 12CEL-06 M18x15 | 19 11 25 12 | 49
BN 15CEL-06 M22Xx15 | 24 12 29 15 51
3/8”
BN 15CEL-08 M22Xx15 | 24 12 28 15 56
-08 |BN 18CEL-08 M26x15 | 27 12 28 18 56
BN 20CELJ-08 M28x1.5 | 30 14 | 32 20 | 60
BN 22CELJ-08 M30Xx15 | 32 14 | 32 22 60
1/2”
~10 BN 18CEL-10 M26 X 15 | 27 12 29 18 69
RM 22CEL-10 M30 % 2 32 14 | 32 22 68
5/8" BN 22CELJ-10 M30X15 | 32 14 | 33 22 69
BN 28CELJ-10 M36Xx15 | 41 16 36 28 72
~19 BN 22CEL-12 M30 x 2 32 14 | 33 22 71
RM 28CEL-12 M36 x 2 41 14 | 33 28 61
3/4" BN 22CELJ-12 M30X15 | 32 14 | 33 22 75
BN 28CELJ-12 M36Xx15 | 41 16 36 28 76
16 RM 28CEL-16 M36 X 2 36 14 | 33 28 74
BN 28CELJ-16 M36X15 | 41 16 | 38 | 28 | 81
1 BN 35CELJ-16 M45x715 | 50 | 16 | 37 | 35 | 80
~20 35CEL-20 M45 x 2 46 35
1.1/4”
_94 42CEL-24 M52 x 2 55 42
1.1/2”
-32
2"

40



DKOL(DIN) = DKOLJ(JIS)

BAAI—MNVARZY12° FRY—F OUYT Y—) O'RING METRIC FEMALE 12° CONE L.T.

M B

L\

L
rd

|
D

[mm]

FAX] 3 ES B
HOSE SIZE PART.REF. TH READ(T) (Cut Off)

RM 6DKOL-04 M12x15 | 14 | 25 | 20 6 41

-04 BN 8DKOL-04 M14x15 | 17 | 1.5 | 23 8 44

BN 10DKOL-04 M16x15 | 19 | 25 | 24 [ 10 | 46

RM 12DKOL-04 M18Xx15 | 22 | 1.5 | 26 | 12 | 46

BN 10DKOL-06 M16x15 | 19 2 [265| 10 | 52

-06 BN 12DKOL-06 M18x15 | 22 2 [245]( 12 | 48

BN 15DKOL-06 M22x15 | 27 | 1.5 [ 255 15 | 49

BN 15DKOL-08 M22x15 | 27 | 1.5 | 28 [ 15 | 56

-08 BN 18DKOL-08 M26x15 | 32 2 [275] 18 | 56

1/2”

~10 BN 15DKOL-10 M22x15 | 27 2 26 | 15 | 53
BN 18DKOL-10 M26x15 | 32 | 1.5 | 28 [ 18 | 65

5/8" BN 22DKOL-10 M30 X 2 36 3 32 | 22 | 67

BN 22DKOLJ-10 M30x175 | 36 | 35| 33 [ 22 | 70

RM 18DKOL-12 M26 X 2 32 2 27 | 18 | 58

-12 BN 22DKOL-12 M30 X 2 36 35 | 22 | 75

w

RM 28DKOL-12 M36 X 2 41 4 34 | 28 | 65

BN 22DKOLJ-12 M30x15| 36 | 35| 35 [ 22 | 75

3/4” | RM28DKOLJ-12 M36x715 | 41 | 35| 34 | 28 | 64

BN 28DKOL-16 M36 X 2 41 | 35325 28 | 77

~16 BN 35DKOLJ-16 M45x75 | 55 | 45| 34 | 35 [ 76

1

~20 BN 35DKOL-20 M45 X 2 50 [ 45 ] 38 | 35 [ 96
1.1/4”

—o4 42DKOL-24 M52 X 2 60 42
1.1/2”

41



DKOL45(DIN) - DKOLJ45(JIS)

MIAZA-MLARRY12° FRY—b OYV5'Y—L4a5° A'UE  45° O'RING METRIC FEMALE SWEPT ELBOW 12° CONE L..T.

_C
D

T CRING
\E
- [mm]
FAR 2 x> Ty B lnulprlL
HOSE SIZE PART.REF. TH READ(T) (Cut Off)
—04 BN 6DKOL45-04 M12x15 | 14 | 35 18 6 56
BN 8DKOL45-04 M14x15 | 17 38 |165] 8 59
1/4” RM 10DKOL45-04 M16Xx15 | 19 38 17 10 | 59
RM 10DKOL45-06 M16X15 | 19 | 44 | 23 10 | 74
-06 BN 12DKOL45-06 M18X15 | 22 | 48 21 12 74
RM 15DK0OL45-06 M22x15 | 27 45 18 15 70
3/8”
08 BN 15DKOL45-08 M22x15 | 27 55 23 15 77
RM 18DK0OL45-08 M26 X 1.5 | 32 70 | 32 18 95
1/2°
~10 BN 15DKOL45-10 M22x15 | 27 53 25 15 | 80
BN 18DKOL45-10 M26x15 | 32 66 25 18 | 102
5/8” RM 22DK0OL45-10 M30 x 2 36 72 26 22 99
RM 22DKOLJ45-10 | M30x 1.5 | 36 72 26 22 99
~19 BN 22DKOL45-12 M30 x 2 36 73 27 22 | 113
RM 28DK0OL45-12 M36 x 2 41 85 30 | 28 | 106
3/4”
~16 RM 28DKOL45-16 M36 X 2 41 85 32 28 | 132
1”
~20 BN 35DKOL45-20 M45 x 2 50 | 112 ] 40 | 35 | 172
1.1/4”
_94 42DK0OL45-24 M52 x 2 60 42
1.1/2”
-32
2"

42



DKOL90(DIN) - DKOLJIO(JIS)

MIAZA-MLARRY12° FRY—F OYY5Y-L90° A'UE  90° O'RING METRIC FEMALE SWEPT ELBOW 12° CONE L..T.
L

==

I F
ORING ’Hfﬁ £
- [mm]
TAX 2 x> Ty B lnulprlL
HOSE SIZE PART.REF. TH READ(T) (Cut Off)
BN 6DKOL90-04 M12x15 | 14 | 28 | 31 6 50
-04 BN 8DKOL90-04 M14x15 | 17 | 32 | 34 8 53
BN 8DKOL90H50-04 | M14x15 | 17 | 32 | 50 8 53
BN 8DKOL90H55-04 | M14Xx15 | 17 | 32 | 55 8 53
1/4” | BN 10DKOL90-04 M16xX15 | 19 | 31 33 10 | 50
BN 12DKOL90-04 M18x15 | 22 | 29 | 33 12 | 53

BN 10DKOL90-06 M16x15 | 19 [ 35 | 41 10 | 58

-06 BN 12DKOL90-06 M18x15 | 22 | 40 | 38 | 12 | 64

BN 12DKOL90H50-06f M18x15 | 22 | 40 [ 50 | 12 | 64

BN 12DKOL90H60-06f M18x1.5 | 22 | 40 [ 60 | 12 | 64

3/8” [BN 12DKOL90H75-06] M18x15 | 22 | 40 [ 75 | 12 | 64

BN 15DKOL90-06 M22x15 | 27 | 44 | 41 15 | 68

BN 15DKOL90-08 M22x15 | 27 | 49 | 46 [ 15 | 78

-08 |RM 15DKOL90H60-08| M22x15 | 27 | 46 | 60 [ 15 | 70

RM 15DKOL90H77-08[ M22x15 | 27 | 46 [ 77 | 15 | 70

RM 18DKOL90-08 M26x15 | 32 | 44 | 47 | 18 [ 72

172"

~10 BN 15DKOL90-10 M22x15 | 27 | 54 | 50 [ 15 | 81
BN 18DKOL90-10 M26x15 | 32 | 52 | 51 18 | 90

5/8” RM 22DKOL90-10 M30 x 2 36 | 60 | 53 | 22 | 88

RM 22DKOLJ90-10 | M30x1.5 | 36 | 60 [ 53 | 22 | 88

RM 18DKOL90-12 M26 X 2 32 | 53 | 58 | 18 | 84

-12 BN 22DKOL90-12 M30 x 2 36 | 60 | 55 | 22 | 99

RM 22DKOL90H100-12] M30X% 2 36 [ 70 | 100 | 22 [ 100

RM 22DKOL90H120-12] M30Xx 2 36 [ 70 | 120 | 22 [ 100

3/4” | RM 28DKOL90-12 M36 X 2 41 ] 74 | 65 | 28 [ 110

RM22DKOLJ90-12 | M30x 1.5 | 36 | 60 | 55 | 22 [ 99

BN 28DKOL90-16 M36 X 2 41 |1 70 | 64 | 28 [ 114

-16

1

~20 BN 35DKOL90-20 M45 X 2 50 | 93 | 82 | 35 [ 150
1.1/4”

iy 42DKOL90-24 M52 x 2 60 95
1.1/2”

43



CES(DIN)

BAHA—MARRY12° FRY—} METRIC MALE 12° CONE SEAT H.T.

i’f\|

toa
VAN

- [mm]
FAX 2 E3) v al® el
HOSE SIZE PART.REF. TH READ(T) (Cut Off)
BN 6CES-04 M14x15 | 14 | 12 | 25 6 45
-04 RM 8CES-04 MI6X15 | 17 | 12 | 27 8 48
RM 10CES-04 M18x15 | 19 12 | 27 10 [ 49
1/4”
RM 10CES-06 M18x15 | 19 12 | 29 10 [ 59
-06 BN 12CES-06 M20x 15 | 22 12 [ 29 12 | 51
BN 14CES-06 M22x15 | 24 | 135 31 14 [ 53
3/8”
BN 16CES-08 M24x15 | 27 14 | 32 16 [ 58
-08
1/2”
~10 BN 20CES-10 M30 X 2 32 16 [ 37 | 20 | 70
5/8"
~12 RM 20CES-12 M30 X 2 30 | 16 | 38 | 20 | 68
BN 25CES-12 M36 X 2 36 18 [ 39 | 25 | 77
3/4”
16 BN 25CES-16 M36 X 2 36 18 | 44 | 25 | 82
BN 30CES-16 M42 x 2 46 [195] 44 | 30 | 86
17
~20 BN 38CES-20 M52 X 2 55 | 22 | 50 | 38 | 105
1.1/4”
-24
1.1/2”
-32
2”

44




DKOS(DIN)

BAAI—MNVARZY12° FRY—F OUYT Y—) O’'RING METRIC FEMALE 12° CONE H.T.
L
i =]
ORING L\
\\" T+
I S 1 —
by
- | D
- [mm]
FAR 2 > T 1 Al8B]p]L
HOSE SIZE PART.REF. TH READ(T) (Cut Off)

RM 6DKOS-04 M14x15 | 17 [ 1.5 | 24 6 45

-04 BN 8DKOS-04 M16x15 | 19 4 25 8 45

BN 10DKOS-04 MI18Xx15 | 22 [ 25| 26 | 10 [ 46

BN 10DKOS-06 M18x 1.5 | 22 2 28 | 10 | 49

-06 BN 12DKOS-06 M20X 1.5 | 24 2 27 | 12 | 28

BN 14DKOS-06 M22x15 | 27 | 3.5 | 31 14 | 53

RM 14DKOS-08 M22x1.5 | 27 4 29 | 14 | 54

-08 BN 16DKOS-08 M24x1.5 | 30 31 16 | 58

()]

RM 20DKOS-08 M30x 1.5 | 36 5 39 | 20 | 64

1/2”
~10 RM 16DKOS-10 M24 X 2 30 | 45| 27 | 16 [ 55
BN 20DKOS-10 M30 X 2 36 | 35138 ] 20 M
5/8"
19 BN 20DKOS-12 M30 X 2 36 | 25| 39 | 20 [ 78
BN 25DK0OS-12 M36 X 2 41 5 39 | 25 | 78
3/4”
16 BN 25DKOS-16 M36 X 2 41 [ 65| 41 | 25 | 83
BN 30DKOS-16 M42 X 2 50 6 43 [ 30 | 84
1
~20 30DK0OS-20 M42 x 2 50 30
BN 38DKOS-20 M52 X 2 60 8 47 [ 38 | 103
1.1/4”
_94 38DK0OS-24 M52 x 2 60 38
1.1/2”
-32
9"

45




DKOS45(DIN)

MIAZA-MLARRY12° FRY—b OYY5'Y—L4a5° A'UE  45° O'RING METRIC FEMALE SWEPT ELBOW 12° CONE H.T.

_C
|

T O'RING
VA
- [mm]
FAX 2 x> [y 1B lnulprlL
HOSE SIZE PART.REF. THREAD(T) (Cut OF)
BN 6DKOS45-04 M14Xx15 | 17 | 37 | 19 26
-04 BN 8DKOS45-04 MI6X15 | 19 | 36 | 15 8 99
BN 10DKOS45-04 | M18x15 | 22 | 40 [ 17 | 10 | 61
1/4”
BN 10DKOS45-06 | M18x15 | 22 | 36 [ 24 | 10 | 63
—06 | BN 12DKOS45-06 | M20x15 | 24 | 52 [ 20 | 12 | 75
BN 14DKOS45-06 | M22x15 | 27 | 46 [ 19 | 14 | 72
3/8”
RM 14DKOS45-08 | M22Xx1.5 | 27 [ 64 | 29 | 14 | 90
—-08 | BN 16DKOS45—08 | M24x1.5 | 30 | 60 | 23 [ 16 | 81
1/2”
~10 RM 16DKOS45-10 M24 X 2 30 [ 55 | 30 | 16 | 82
BN 20DKOS45-10 M30 x 2 36 | 65 | 25 | 20 | 103
5/8”
~19 RM 20DKOS45-12 M30 x 2 36 [ 73 | 30 | 20 [ 104
RM 25DK0OS45-12 M36 X 2 41 | 75 | 32 [ 25 | 106
3/4”
16 BN 25DKOS45-16 M36 X 2 41 | 72 | 38 | 25 | 123
BN 30DKOS45-16 M42 x 2 46 | 72 | 38 | 30 | 123
-
—po | BN 38DKOS45-20 M52 X 2 60 [ 105 | 41 | 38 | 164
1.1/47
-24
1.1/2”
-32
5"

46




DKOS90(DIN)

MIAZA-MLARRY12° FRY—F OYY5Y—L90° A'UE  90° O’RING METRIC FEMALE SWEPT ELBOW 12° CONE H.T.

L

—=

A
ORING S Mpetor X

[mm]

FAR| 3 E35) B
HOSE SIZE PART.REF. THREAD(T) (Cut Off)

BN 6DKOS90-04 M14x15 | 17 | 30 | 30 6 92

-04 BN 8DKOS90-04 M16x15 | 19 | 34 | 32 8 94

BN 10DKOS90-04 M18x15 | 22 | 31 | 33 | 10 [ 50

BN 10DKOS90-06 M18x15 | 22 | 34 | 36 [ 10 | 58

-06 BN 12DK0OS90-06 M20Xx15 | 24 | 42 | 42 | 12 [ 65

BN 14DKOS90-06 M22x15 | 27 | 36 | 37 | 14 | 64

RM 14DKOS90-08 | M22x1.5 | 27 | 43 | 44 | 14 [ 70

-08 BN 16DKOS90-08 M24x15 | 30 | 46 | 45 | 16 | 74

RM 20DK0OS90-08 M30 X 2 36 | 57 | 55 | 20 [ 82

1/2”

10 | _RM T6DKOS90-10 | M24x1.5 | 30 | 54 | 59 | 16 | 8
BN 20DKOS90-10 | M30x2 | 36 | 51 | 55 | 20 | 87

5/8"

1, | RM20DKOS90-12 | M30x2 | 36 | 59 | 58 | 20 | of
BN 25DK0S90-12 | M36x2 | 41 | 61 | 60 | 25 | 100

3/4”

16 | _RM 25DKOS90-16 | M36x2 | 41 | 79 | 86 | 25 | 122
BN 30DK0S90-16 | M42x2 | 50 | 63 | 72 | 30 | 107

”

0 | BN 38DKOS90-20 | M52x2 | 60 | 90 | 85 | 38 | 148

1.1/4"

—24

1.1/2”

—32

,

47



SAEA%Y4"—F (3000psi)A FL—F STRAIGHT SAE FLANGE 3000psi

-

# A

JW} .

- (
D

1 o o [mm]

HFAR 3 NFFAX T o 18 | 6| b

HOSE SIZE PART.REF. FLANGE (Cut Off)

-04

1/4”

-06

3/8”
BN SSFST-08 1/2” 302 48 | 254 6.7 | 76

-08

1/2”

~10 RM SSFST-0810 1/2” 302 46 | 254 6.7 | 73
BN SSFST-1210 3/4" 38.1| 51 | 31.8]| 6.7 | 87

5/8”

~19 BN SSFST-12 3/4" 38.1| 51 | 31.8] 6.7 | 91
BN SSFST-1612 17 445 48 [ 396| 8 88

3/4”

16 BN SSFST-16 17 445 52 [396]| 8 91
BN SSFST-2016 1.1/4" 508 52 | 445 8 95

1”

~20 BN SSFST-20 1.1/4" 508| 78 | 445 8 134
BN SSFST-2420 1.1/2” 60.3| 43 | 53.8| 8 129

1.1/4"

-24

1.1/2"

-32

2"

48




SSF45

SAEZ4Y4 —} (3000psi)45° AU

45° SAE FLANGE 3000psi

B
I i
rs
=3
o
-
- = [mm]
HAX " Ay HAR B
ose sie PART.REF. FLANGE | A |owom| © | D | H [ L
06
3/8"
BN SSF45-08 1727|302 57 | 254] 67 | 23 | 81
08
1/2”
10 |__RM SSF45-0810 1727 302 76 | 254] 6.7 | 25 | 103
BN SSF45-1210 3/47 | 381] 58 |318] 6.7 | 24 | 95
5 /g~ | BN SSF45H62-1210 | 3/4” 381 97 [31.8] 67 | 62 | 132
1 BN SSF45-12 3/47 | 381 66 |318] 6.7 | 25 | 105
BN SSF45H70-12 3/4” | 38.1] 107318 6.7 | 70 | 144
a/4” | BN SSF45-1612 1 445| 68 |396| 8 | 25 | 108
1o BN SSF45-16 K 445| 77 [396| 8 | 30 | 120
BN SSF45-2016 11/4” | 508 77 |445| 8 | 30 | 120
-
00 BN SSF45-20 11/4” | 508|103 | 445| 8 | 34 | 160
BN SSF45-2420 11/2” |603[ 103538 8 | 35 | 160
11/4”
24
11/2”
32
)

49




SAEZ4Y4 —} (3000psi)90° A'YF

90° SAE FLANGE 3000psi

A
s
E
_ [rmm]
TFAR At AYr TR A B c D H L
HOSE SIZE PART.REF. FLANGE (Cut Off)
BN SSF90-08 1/2” 302 47 [ 2541 67 [ 41 73
BN SSF90H60-08 1/2” 302 40 | 254 67 | 60 | 67
-08 BN SSF90H70-08 1/27 302 40 [ 254 67 | 70 | 67
BN SSF90H90-08 1/2” 302 40 | 254 67 | 90 | 67
BN SSF90H100-08 1/27 302 47 | 254 67 | 100 | 73
BN SSF90H120-08 1/2”7 302 47 | 254 67 | 120 | 73
BN SSF90-1208 3/4” 38.1] 47 | 318 67 | 40 | 73
1/2” | BN SSF90H55-1208 3/4” 381 | 40 | 318 67 | 55 | 67
BN SSF90H100-1208 3/4” 38.1] 40 | 318] 6.7 | 100 | 67
BN SSF90H120-1208 3/4” 381 ] 40 | 318] 6.7 | 120 | 67
BN SSF90H90-0810 1/2” 302 63 | 254 67 | 90 | 96
10 | BN SSF90H100-0810 1/2” 302 63 | 254 6.7 | 100 | 96
BN SSF90H120-0810 1/2 302 | 63 [ 254 67 | 120 | 96
BN SSF90H150-0810 1/27 302 | 63 | 254 67 | 150 | 96
BN SSF90-1210 3/4” 381 | 58 | 318] 67 | 52 | 93
5/8” | BN SSF90H100-1210 3/4” 381 | 48 | 318| 67 | 100 | 84
BN SSF90H120-1210 3/4” 381 48 | 318 67 | 120 | 84
BN SSF90-0812 1/27 302 61 [ 254 67 | 53 | 99
BN SSF90H90-0812 1/2”7 302 61 [ 254 67 | 53 | 99
BN SSF90H130-0812 1/27 302 61 | 254 67 | 53 | 99
BN SSF90H150-0812 1/2”7 302 61 [ 254 67 | 53 | 99
19 BN SSF90-12 3/4” 381] 53 [ 318] 67 | 54 | 94
BN SSF90H85-12 3/4 38.1] 56 | 318 67 | 85 | 94
BN SSF90H90-12 3/4” 381 56 [318] 67 | 90 | 94
BN SSF90H100-12 3/4” 38.1] 56 | 31.8] 6.7 [ 100 | 94
BN SSF90H120-12 3/4” 381 56 [ 318] 67 | 120 | 94
BN SSF90H130-12 3/47 38.1] 56 | 31.8] 6.7 [ 130 | 94
BN SSF90H140-12 3/4” 381] 56 [ 318] 67 | 140 | 94
BN SSF90H150-12 3/4” 38.1] 56 | 31.8] 6.7 [ 150 | 94
BN SSF90H175-12 3/4” 381 56 [ 318 67 | 175 | 94
3/4" BN SSF90-1612 1 445 | 56 | 396| 8 52 | 94
BN SSF90H90-1612 1 445] 56 | 396| 8 90 | 94
BN SSF90H105-1612 17 445 | 56 | 396| 8 | 105 | 94
BN SSF90H120-1612 17 445 | 56 | 396| 8 | 120 | 94
BN SSF90H150-1612 17 445 | 56 [ 396| 8 | 150 | 94
BN SSF90-1216 3/4”
BN SSF90H120-1216 3/4” 38.1] 65 | 31.8] 6.7 | 120 | 107
BN SSF90H150-1216 3/4” 381] 65 [ 318| 6.7 | 150 | 107
BN SSF90-16 17 445] 65 | 396| 8 70 | 107
16 BN SSF90H100-16 1” 445| 65 [ 396| 8 | 100 | 107
BN SSF90H115-16 1 445] 65 | 396| 8 | 115 ] 107
BN SSF90H120-16 17 445 65 [ 396| 8 | 120 | 107
BN SSF90H130-16 17 445] 65 | 396| 8 | 130 | 107
BN SSF90H140-16 17 445| 65 [ 396 8 | 140 | 107
BN SSF90H150-16 17 445] 65 | 396| 8 | 150 | 107
BN SSF90H165-16 17 445| 65 [ 396| 8 | 165 | 107
BN SSF90H175-16 17 445] 65 | 396| 8 | 175 | 107
17 BN SSF90H190-16 17 445] 65 | 396| 8 | 190 | 107
BN SSF90H210-16 17 4451 65 [ 396| 8 | 210 | 107
BN SSF90-2016 1.1/47 508 | 65 | 445] 8 70 | 107
-20 BN SSF90-20 1.1/47 50.8 [ 100 | 445 8 81 | 145
1.1/4" BN SSF90-2420 11/2”7 60.3 | 100 | 538 | 8 81 | 145
1.1/2”




SAEN{7°LyY4—(6000psi)AFL—F STRAIGHT SAE FLANGE 6000psi
L
B
]
——< | (
34 I - — D
1 o o [mm]

HFAR 3 SN
HOSE SIZE PART.REF. FLANGE (Cut Off)
-04
1/4”
-06
3/8”

RM HSFST-08 1/2” 318 54 | 254| 78 | 78
-08
1/2”
~10 RM HSFST-0810 1/2” 318 56 | 254 7.8 | 81

BN HSFST-1210 3/4" 413| 55 [31.8| 88 | 91
5/8”
~19 BN HSFST-12 3/4" 413 52 [31.8| 88 | 92

BN HSFST-1612 17 476 54 [396] 95| 94
3/4”
16 BN HSFST-16 17 476 56 [396] 95| 99

BN HSFST-2016 1.1/4" 54 | 60 |445]110.3| 103
1”
~20 BN HSFST-20 1.1/4" 54 | 86 | 4451 10.3| 142

BN HSFST-2420 1.1/2” 63.5| 81 [ 53.8| 126 137
1.1/4”
-24
1.1/2”
-32
2"

51



HSF45

SAEN{7 LyY4—(6000psi)45° A"V}

45° SAE FLANGE 6000psi

L
B
T
ra
=)
o
W\
- = [mm]
HA4X " Ay HAR B
ose sie PART.REF. FLANGE | A |owow| © | D | H [ L
RM HSF45-08 1/2” | 318| 54 | 254] 78 | 18 | 80
08
1/2”
10 |__RM HSF45-0810 1727 73 [ 254 7.8 | 24 | 99
BN HSF45-1210 3/4” 60 | 31.8| 88 | 25 | 95
5 /g~ | BN HSF45H70-1210 | 3/4” 103 [31.8| 88 | 70 | 136
1 BN HSF45-12 3/47 | 413| 67 |318] 88| 25 | 107
BN HSF45H70-12 3/4” | 413|106 |318] 88 | 70 | 146
a/4” | BN HSF45-1612 1 476 67 |396] 95 | 25 | 107
1o BN HSF45-16 17 476| 78 | 396 95 | 34 | 121
BN HSF45-2016 11/4” | 54 | 83 |445[103| 30 | 126
o
00 BN HSF45-20 11/4” | 54 | 108 | 445|103 | 37 | 164
BN HSF45-2420 11/2” | 635|108 |53.8|12.6| 37 | 164
11/4”
24
11/2”
32
)

52



SAEN{7LyY4—(6000psi)90° A'VE

90° SAE FLANGE 6000psi

B
.
]
n
T' | pl
1 o o [mm]
HFAR 3 ST ZE Bl clolulLl
HOSE SIZE PART.REF. FLANGE (Cut Off)
—08 BN HSF90-08 1/2° 31.8] 42 | 254 7.8 | 40 67
HSF90H90-08 1/2”7 31.8| 42 | 254 7.8 | 90 67
1/2”7
~10 RM HSF90-0810 1/2” 31.8| 60 | 254 7.8 | 57 85
BN HSF90-1210 3/4” 413 50 [31.8] 88 | 56 84
5/8" BN HSF90H100-1210 3/4” 413 50 [31.8| 88 | 100 | 84
BN HSF90-12 3/4" 413] 54 | 8.8 [ 47 58 93
BN HSF90H100-12 3/4” 413 54 [31.8| 88 | 100 | 93
~19 BN HSF90H110-12 3/4” 413 54 [31.8| 88 | 110 | 93
BN HSF90H125-12 3/4” 413 54 [31.8| 88 | 125 | 93
BN HSF90H150-12 3/4” 413 54 [31.8| 88 | 150 | 93
BN HSF90-1612 17 476] 54 | 39.6| 9.5 | 61 93
BN HSF90H100-1612 17 476] 54 |139.6| 9.5 ] 100 | 93
BN HSF90H120-1612 17 476] 54 |139.6| 95 | 120 | 93
3/4” | BN HSF90H140-1612 17 476] 54 |39.6| 95 ]| 140 | 93
BN HSF90H60-16 1" 476] 66 [39.6] 9.5 | 60 | 107
BN HSF90-16 17 476 66 | 39.6]| 95| 68 [ 107
BN HSF90H90-16 17 476] 66 [39.6] 9.5 | 90 | 107
16 BN HSF90H100-16 17 476] 66 [39.6] 9.5 | 100 | 107
BN HSF90H110-16 17 476] 66 [39.6] 9.5 | 110 ] 107
BN HSF90H120-16 17 476] 66 [39.6] 9.5 | 120 | 107
BN HSF90H140-16 17 476] 66 [39.6] 9.5 | 140 | 107
BN HSF90H150-16 17 476] 66 [39.6] 9.5 | 150 | 107
BN HSF90-2016 1.1/4” 54 66 | 445]103] 68 | 107
BN HSF90H100-2016 1.1/4” 54 66 | 445]10.3] 100 | 107
BN HSF90H130-2016 1.1/4” 54 66 | 44511031 130 | 107
1” | BN HSF90H180-2016 1.1/4” 54 66 | 445]10.3] 180 | 107
BN HSF90-20 1.1/4" 54 | 96 | 445[10.3] 85 [ 152
-20 BN HSF90H120-20 1.1/4” 54 96 | 44511031 120 | 152
BN HSF90H140-20 1.1/4” 54 96 | 445]10.3] 140 | 152
BN HSF90H150-20 1.1/4” 54 96 | 445]10.3] 150 | 152
1.1/4” BN HSF90H170-20 1.1/4” 54 96 | 44511031 170 | 152
BN HSF90-2420 1.1/2” 63.5] 96 | 53.8[12.6| 87 | 152
-24
1.1/2"
-32
2"

53




KSFST-KHFST

KES%47°77% A—b

STRAIGHT KOMATSU FLANGE

B A

|

-

-
D

[mm]

HA4X

HOSE SIZE

o7

PART.REF.

AR HAR
FLANGE

B

(Cut Off)

L |[Oring

m=
REMARKS

-04

172"

-10

BN KSFST-10

5/8"

341

72

28

6.7

108 |P-22A

5/8"

-12

BN KSFST-12

3/4”

38.1

70

31

6.7

110 |P-25

3/4”

BN KSFST-16

445

74

38

117

-16

BN KSFST-16LF

44.5

79

38

oo | o

122

P-32| —2732Y {3 /with Loose Flange

BN KSFST-20

1.1/4”

50.8

78

44

134

-20

BN KHFST-20

1.1/4”

54

86

44

10.3

120

1.1/4”

—-24

1.1/2”

-32

54




KSF45- KHF45

KES$%47°775%7°45° AUV

45° KOMATSU FLANGE

B
T
rd
=y
o
"
- = [mm]
HA4X " Ay HAR B
ose sie PART.REF. FLANGE | A |owom| © | D | H [ L
08
1/2”
10 BN KSF45-10 5/8° | 341] 69 | 28 | 6.7 | 18 | 104
5/8"
1 BN KSF45-12 3/47 | 381 69 | 31 | 6.7 | 24 | 109
3/4”
1o BN KSF45-16 17 445] 74 | 38 | 8 | 30 | 117
o
00 BN KSF45-20 11/4” | 508| 95 | 44 | & | 33 | 153
BN KHF45-20 11/4” | 54 | 95 | 44 [103| 33 | 153
11/4”
24
11/2”
32
)

95




KSF90+KHF90

KES%47°775%790° A™UN

90° KOMATSU FLANGE

L
B
)
I /
[ l
S
<A
- = [mm]
HA4X " Ay HAR B
ose sie PART.REF. FLANGE | A |owom| © | D | H [ L
08
1/2”
10 BN KSF90-10 5/8” | 341] 50 | 28 | 6.7 | 52 | 84
BN KSF90H85-10 5/8” | 341| 50 | 28 | 6.7 | 85 | 84
5/8"
1 BN KSF90-12 3/47 | 381 53 | 31 | 6.7 | 54 | 93
3/4"
1o BN KSF90-16 17 445| 65 |445| 8 | 70 | 108
BN KSF90-16LF 17 445| 65 |445| 8 | 70 | 108 [L—2755% 1 /with Loose Flange
-
00 BN KSF90-20 11/4” | 508| 88 | 44 | & | 80 | 145
BN KHF90-20 11/4” | 54 | 88 | 44 [103| 80 | 145
11/4”
24
11/2”
32
)

56



CATST

CAT447°77VY AN—} STRAIGHT CAT FLANGE
L
B
L
=
==
- z [mm]

HA4X AR ST ZPS B o
HOSE SIZE PART.REF. FLANGE A (Cut Off) c D L 0 ng
12 BN CATST-12 3/4” 413] 79 |[31.8[143] 118 AS568-214

BN CATST-1612 17 476| 83 396 14.3] 123 AS568-219
3/4”
16 BN CATST-16 17 476 90 [ 396 14.3] 132 AS568-219

BN CATST-2016 1.1/4” 54 | 90 |445|14.3| 134 AS568-222
.
_90 BN CATST-20 1.1/4” 54 | 86 |445|14.3] 67 AS568-222
1.1/4”
-24
1.1/2”
-32
0"

57



CAT45

CAT447750Y°45° AUK

45° CAT FLANGE

L
B
% J
I
Vd
iy
%@
- == [mm]

HA4 X on AYNHYAR B .
HosE sz PART.REF. FLANGE | 2 feuon| © | D[ H | L OFRing
19 BN CAT45-12 3/47 | 413]| 74 | 318|143 27 | 113 AS568-214

BN CAT45-1612 17 476| 74 | 396|143 33 [ 110 AS568-219
3/4”
16 BN CAT45-16 17 476| 79 | 396|143| 30 | 123 AS568-219

BN CAT45-2016 11/47 | 54 | 87 | 445|143 31 | 127 AS568-222
e
20 BN CAT45-20 11/4” | 54 | 112 | 445| 143| 34 | 165 AS568-222
1.1/4”
~24
1.1/27
-32
0

58




CAT90

CAT447°7730¥790° A'UN 90° CAT FLANGE
L
B
/ _ _ ]
rs
T
B
[l
.
e
B A
- 73 [mm]
TAR ™ ~NFTAR 5 —
st sme PART.REF. FLANGE | A |owow| © | P | H [ L O-Ring
BN CAT90-12 3/47 | 413| 55 |31.8|143| 62 | 93 AS568-214
—12 | BN CAT90H120-12 | 3/4” |413| 55 |31.8|143] 120 | 93 AS568-214
BN CAT90-1612 1 476| 55 | 396|143 64 | 93 AS568-219
BN CAT90H130-1612 1 476| 55 | 396|143 130 | 93 AS568-219
3/4” |BN CAT90H157-1612 1 476| 55 | 396|143 157 | 93 AS568-219
1o BN CAT90-16 K 476| 65 | 396|143 74 | 108 AS568-219
BN CAT90H130-16 1 476| 65 |39.6| 143 130 | 108 AS568-219
.~ | BN CAT90-2016 11/4” | 54 | 74 |445|143] 76 | 115 AS568-222
00 BN CAT90-20 11/4” | 54 | 93 |445|143| 87 | 148 AS568-222
11/4"
24
11/2"
32
)

99



IF

74 3{Vk BANJO
TYFE 1 TvFE
m &L
| BA
L I I G {t
o |
- z | [mm]
HA4X oh
HOSE SIZE PART REF TYPE A B C D L
RM IF8 x 8-04 1 8 | 8 48
RM IF10 X 10-04 1 [ 10| 10 48
-04 | BNIF12x 12-04 1 [ 12] 12 465
BN IF14 X 14-04 1 [ 14| 14 495
BN IF16 X 16-04 1 | 16| 16 52,5
BN IF G1/4-04 1 [133] 14 495
BN IF G3/8-04 1 [16.7] 18 52,5
1/4” | BN IF16 X 20-04 2 16| 20| 22 18] 49
BN IF14 X 14-06 T |14 14 56
-06 | BNIF16 X 18-06 1 | 16| 18 54
BN IF18 X 2006 1 | 18| 20 57
BN IF G3/8-06 1 |16.7] 18 54
3/8”| BNIF G1/2-06 1 [212] 22 59.5
RM IF18 X 20-08 T | 18 | 20 58
-08 | RMIF22 x 22-08 1 [ 221 22 68.5
RM IF G1,/2-08 1 [212] 22 60.5
1/2”
10 RM IF G5/8 1 | 23 | 235 67.5
5/8"
1o RM IF G3/4-12 T [26.7] 29 785
3/4"
~16
e
~20
1.1/4”
—24
1.1/2”

60




WASH

D49 —F—ARRY

ORME )

L BA

L 1

g

WASH CLEANER FEMALE

[mm]

HA4X

HOSE SIZE

o7

PART.REF.

R
THREAD(T)

B

(Cut Off)

BN WASH-04

M22 X 1.5

13.9

4

95

BN WASH-06

M22 x 1.5

13.9

99

1/2”

-10

5/8"

-12

3/4”

-16

-20

1.1/4”

—-24

1.1/2”

61




